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L4.1 Evaluating Polynomial Functions

The end behavior describes the behavior of a graph as x
approaches positive infinity and negative infinity.

h(x) = =3x" + 5x7' — 3x% h(x) is the only function that is not
a polynomial.

polynomial function; f(x) = 5x* — 6x* — 3x + 2; degree: 3
(cubic), leading coefficient: 5

polynomial function; p(x) = 6x* — 4x* + %.r' + e 13
degree: 4 (quartic), leading coefficient: 6

not a polynomial function

polynomial function; g(x) = 132> — 12x + V3, degree: 2
(quadratic), leading coefficient: 13

polynomial function; h(x) = V7 + 88 + ;r +x- :i:
degree 4: (quartic), leading coefficient: —V7

not a polynomial function

The function is not in standard form so the wrong term was
used to classify the function; fis a polynomial function. The
degree is 4 and f'is a quartic function. The leading coefficient
15 =17.

The function is not a polynomial function; f'is not a
polynomial function. The term —9Vx has an exponent that is
not a whole number.

h(=2) = —46
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f(=7) = 16,193

g(8)=—43
g(—12) = 2101
1\ _ 45
P(S)_T
1
W-3)=%
h(x) > —<asx— —»and h(x) > —®asx - =

gx) = —xasx— —xand g(x) > *asx — ®
f(x) > »wasx — —>and f(x) > ®asx — ®
f(x) > > asx — —xand f(x) > —xasx — ®

The degree of the function is odd and the leading coefficient is
negative.

The degree of the function is even and the leading coefficient
is positive.



